Algebra Review Solving Quadratics

PROBLEM SOLVING
l. Solve by Factoring
1.) x2-64=0

Po) (z¢8)(x-8) = 0
X+9=0 x-8=D
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(2x1)(x41) =0

Axel=0  x41=0
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Il. Solve by Square Roots
8.) 4x* =81
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3.) x2+ 3x =40
"g’fn X e3x0-0=0

(2+8)(x-5)=0

X+7 =0 x-45:=0

6.) X2 +6x=0

X(x+6)=0

10.) /(x _5)2 =/36/-
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K=l ¢85 A= +5
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lll. Solve by using the quadratic formula:
1. x2+3x+2=0 12.  4x2-8x =1

13. x2+8x=0
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Solve each equation any way you want. Show your work. [ ' Shouwing tHe best method Lor ead

14, x2+ 11x+18=0 CTS 15. x2+2x+1=15 dlé /X2-9x+1 =0
Facter” B XEe2x+ | = Ye_L :fmu/ff
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x2+3x+7=0
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REASONING:

20.) Explain why x2 = -81 DOES NOT have a solution.

olhing souared will erer bhe nepatiie
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21.) Which method can't you use to solve this problem? x*=47 =0

Circle one: Square Roots Quadratic Formula

Explainwhy:(/ﬂ%ﬁ’c¥0rﬂ_b/é B /VD G CF and ot a_DoJ

22.) Which method can't you use to solve this problem? X2+ /x=0

Circle one: Factoring Square Roofts Quadratic Formula

Explain why:
P Yy T/\éféls A 1[),/\5_% ;{ejrge 7/{/'/‘4 (7}()

23.) Which method can you use to solve all quadratic equations?

Circle one: Factoring Square Roots Quadratic Formula

Explain why: -
All GUaArtALS have A, b, ¢ whin n Stestard Lorm,

24.) What are the two mistakes in setting up the quadratic formula:
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For #21-22, a quadratic function and its graph are shown. Identify the solutions, or roots, of the related
quadratic equation.

21.)f(x) =x2-x-12 22) y=-x2+9
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For #13-15, write the expression for the discriminant. Use this to find the number of real solutions for each
equation:
13.)2x2-3x +1=0 14.) x2+4x=-7 15.) x2+ 9 = éx
a2 bz=-3 c=/ a = 2 —
X +9x +7 =0 x*6x +9 =0

(D4R gy (6)*- ()l %)
9-% >0 IL-25 <O 36 -5¢ = O
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Solve by completing the square.

11.) 42" —8x=3 12)) 3x* +6x-42=0
Yy 4 9 3 3 3 3




